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1. In arecent survey of computer ownership, 73.4% of the respondents indicated they own PC computers,
while 21.8% indicated they own both PC and Mac computers, and 80.1% said they own at Jeast one of the
two computers.

(1) What is the probability that a respondent owns a Mac computer?

(2) Given that a respondent owns a PC, what is the probability that the respondent also owns a Mac?
© (3) Are events “P” and “M” mutually exclusive? Explain using probabﬂltles. '

(4) Are the two events “P” and “M” independent? Explain using probabilities.

2. Assume the population mean time a shopper stands in a supermarket checkout line is 8 minutes. A sample
of actual waiting times will be used to test this assumption and determine whether actual mean waiting
time differs from this standard. '

(1) Formulate the hypotheses for this application.

(2) A sample of 100 shoppers showed a sample mean waiting time of 8.5 minutes. Assume a population
standard deviation of ¢ = 3.65 minutes. What is the p-value? '

(3) Ata=.05, whatis your conclusion?

(4) Compute a 95% confidence interval for the population mean.

3. A manager believes that the shelf life of apple juice is normally distributed. A sample of 30 containers of
juice was taken and the shelf life was recorded shown below. The average shelf life in the sample was
'22.8 days with a standard deviation of 6.27 days. '

11 13 15 17 18 13 18 19 | 20 20
21 1 21 21 22 22 23 23 23 23 23
24 | 24 26 | 27 28 29 29 30 33 43

(1) State the null and alternative hypotheses
(2) Ata=.05,use the goodness of fit test w1th 6 equal-probability intervals to conclude about this claim.

4. The marketing department of a company has designed three different boxes for its product. It wants to
determine which box will produce the largest amount of sales. Each box will be test marketed in five '
different kinds of stores for a period of a month. Below you are given the information on sales,

Storel Store2 Store3 Store4 Store5
Box1 83 80 82 83 82
Box2 90 - 38 87 82 83
Box3 82 81 R0 87 90

What conclusion do you draw?
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prediction of profit based on the amount of capital invested?

282
{4). Do the data provide the sufﬁcient‘evidence to indicate that the model contributes information for the

(1) What is the practical interpretation.of B, and f,.

(2) How well does the model fit the data?
(3) Construct an ANOVA table.

5. A regression model rgiating profit ( y) with amount of capital invested (x) and 20 sampleé has been
developed
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